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Let's use tables,
equations, & graphs to answer
questions about R i
proportional
relationships!
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Decide whether each equation is true or false.

Be prepared to explain your reasoning.
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Today's Goals

| can interpret a graph of a
proportional relationship using the
situation given. a

1 | can write an equation
representing a proportional
relationship from a graph.



Activity 13.2



https://pixabay.com/en/stick-man-stickman-stick-figure-34978/
https://pixabay.com/en/stick-man-stickman-stick-figure-34978/
https://docs.google.com/a/students.kuemper.org/document/d/1ctlmbf7ChBniFd4WlkYcQcjAW7Pk0o5g7i0n1-yyRdw/edit?usp=sharing
https://im.openupresources.org/7/students/2/13.html

Assign each teammate
a different letter: A, B, C.

->Complete the activity on your own.
(8 min.)

->Share your ideas with your team.



Let's hear from each group:

What connections can you ‘
see between the table,
graph, and equation?



A graph of a line through

1

the origin and passing
through the first quadrant
represents a proportional
relationship.
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To find the constant of proportionality...




An equation of a proportional relationship is given by

where kis b/a for any point (g,6) on the graph other
than the origin.




If | had point

(5,4), what would the
equation of the line be?



“Are you ready for more?”

The graph of an equation of the form y= kxis a positive
number, is a line through (0,0) and the point (1,4).

1. Name at least one line through (0,0) that cannot be
represented by an equation like this.

2. If you could draw the graphs of a//of the equations of this
form in the same coordinate plane, what would it look like?






https://pixabay.com/en/stick-man-stickman-stick-figure-34978/
https://pixabay.com/en/stick-man-stickman-stick-figure-34978/
https://docs.google.com/document/d/1OSbGt8DaVbzPyDP0uRPnb5p_1pXA2T67wKU_7ef-h6s/edit?usp=sharing

Nathan's Hot Dog Eating Contest
- beganin 1997
- 20 contestants

-> The contestant that consumes and
keeps down the most hot dogs and
buns in 10 minutes is the winner.

-> the Mustard Belt



http://www.youtube.com/watch?v=rmMxgR7XNuo

Andre and Jada were in a hot dog eating contest.
Andre ate 10 hot dogs in 3 minutes.
Jada ate 12 hot dogs in 5 minutes.

* Complete the notebook page with your partner.
* Be prepared to explain your thinking as a class.



At what rate did Andre eat hot dogs?
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number of hotdogs

time in minutes

Write equations for the lines:
Andre — h =10/3t
Jada —- h=12/5t

h = 2.4t

What does the constant of
proportionality mean in each
equation?



time in minutes

number of hotdogs

Write equations for the lines:

Andre — t = 3/10h
t=0.3h
Jada — t=5/12h

What does the constant of
proportionality mean in each
equation?



Do the graphs below tell the same story?
How can you see the same information in both?

number of hotdogs

A

Jada
Andre

Y

time in minutes

time in minutes

A

3

Jada

»
-

number of hotdogs



Today's Goals

| can interpret a graph of a
proportional relationship using the
situation given. a

1 | can write an equation
representing a proportional
relationship from a graph.
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- Splcy Popcorn



https://drive.google.com/file/d/0BwraRpFESLPSeEg1SWNWaXVzTUE/view?usp=sharing
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